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PHYSICS

1. Anobject at rest starts moving with
uniform acceleration of Ims=2. Then
the distance travelled by it in 4
seconds

1) 6m
2) 8m
3)4m
4)2m

2. Ratio of the distance to the
displacement

1) equaltoone

2) lessthanone

3) greaterthanone
4) equal to zero

3. InaTug-of-war, when the two team
pull it with equal effort, the rope
and the two teams remains
stationary then angle between two
teams is

1) 180°
2) 90°
3)60°
4) 0

4. While traveling in a bus, you lean
forward, when brakes are suddenly
applied is example for

1) Power

2) Work
3) Force
4) Inertia

$eSTT
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1) 6m
2) 8m
3)4m

4) 2m
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5. A body of mass 1 kg produces an
acceleration is 1ms—2, then the force

acting on the body is
1) 5N
2) 2N
3) 3N
4) 1N

6. Product of mass and velocity is
1) Work
2) Force
3)
4)

Momentum

Inertia

7. Jet plane and Rocket works on the

basis of
1) Newton’s First law of motion

2) Law of energy

3) Newton’s Second law of motion

4) Newton’s Third law of motion

8. Which of the following has greater

Inertia ?

2,003 FochT T8 1kg &SN, T,
1ms=2 oxy, ﬁcﬁ.racséwrﬁ.ra@z@o
@d% ERRUCTT WO

1) 5N

2) 2N
3) 3N
4) 1N
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9. A man stands with 50 kg rice on
his head, then work done by the
man is

1) 50J
2) 25J
3) Zero
4) 100J

10. Velocity of the body is double then
the Kinetic energy is increased

1) Twotimes
2) Threetimes
3) Onetime
4) Fourtimes

11. Mathematical form of Kinetic energy

1) —my?

12. According to “Law of Conservation
of Energy”

1) Energy can be created and
destroyed

2) Energy can be created but
cannot be destroyed

3) Energy can neither be created
nor be destroyed

4) Energy cannot be converted from
one form to another

0. Wy 5:5:% 50 3.23 @3, a%wsssa
35 3303 FJoees é.raso&raocgo
aoémé TOMTT BTAOT e:szs oz

1) 504

2) 25J

3) Zero (%)
4) 100 J
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13.

14.

15.

CHEMISTRY

The atom that contains only two
neutrons is

1) deuterium

2) tritium
3) hydrogen
)

4) carbon

The atomic mass of ‘deuterium’
isotope of hydrogen is ‘2°’. The
atomic mass of oxygen is 16. The
number of molecules of heavy
water (D,0) present in 2 grams of
heavy water is

1) 6.023x 10%

2) 6.023 x 10%

3) 3.0115x 10

4) 3.0115x10%

Which one of the following
chemical equation indicates

decomposition reaction ?
1) CaCO3 — CaO + 002
2) 2AgNOS+CUA2Ag +Cu (NOB)2
3) MgCl +Na 2CO 3 —MgCO 5+2 NaCl
4) C+ 02 - CO2

13.

14.

15.

dmoﬁoﬁmg
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1) 6.023x 10%

2) 6.023 x 10%

3) 3.0115x10%

4) 3.0115x10%

3 TYTOW 0330 TOTOOIXT

TWETTR JWHT 303503093,
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1) CaCO3 — CaO+ 002
2) 2AgN03+ Cu —2Ag+Cu (N03)2
3) MgCl 2+NazCO 3= MgCOs+2 NaCl

4) C+0, - CO,
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16. Sulphur dioxide is prepared in the

17.

© T o

e

18.

19.

laboratory by the action of
1) Cuand HZSO4

2) Auand HZSO4

3) NaZS and HCI
)

4) Sand HZO
Match the following :
Baking Soda i. NaOH

Bleaching powder ii. NaHCO,

Common salt iii. CaOCl,
Caustic soda iv. NaCl
1)a=ii b=ii c=iv d=i
2) a=iii b=ii c=iv d=i
3)a=ii b=ii c=i d=iv
4) a b=ii c=iv d=ii
Sulphur dioxide reacts with water

to give
1) H, SO
2) H SO
3) H
4) S

The volume occupied by
6.023 x 102 molecules of oxygen
gas atSTP is

1) 2.24 litre
2) 22.4litre
3) 0.224 litre
4) 224 litre

16.

17.

o 9

0

18.

19.

NOwsE Fwd ww, FdemOchTY
OSeR TZHOWOT SABRORRHIT ?

) Cu 5333 HZSO4
2) Au m?% H2804
3) NaZS m:’g HCI
4) S mag HZO
RR0N2 WBo0WD
. TR DR i. NaOH
- Qeason® TR (¥enRR) ii. NaHCO,
ORR 0T iii. CaOCl,
TR R iv. NaCl
1)a=ii b=ii c=iv d=i
2) a=ii b=ii c=iv d=i
3)a=ii b=ii c=i d=iv
4)a=i b=ii c=iv d=ii

nogss %w%w@ QCOVROAR e
— RT3,

6.023 x 10%* T, STHWNIT WeRNRES
BTIT I DB, WSRTY (STP)
SFWIT T SNTHIT.

1) 2.24 S¢.

2) 22.4 Oe.
3) 0.224 .
4) 224 Se.
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20. Atoms of an element with different
no. of neutrons are
1) Isotopes
2) Isomers
3) Allotropes
)

4) Alloys

21. The valueof 1 a.m.uis
1) 1.66x 10%* kg
2) 1.66 x 10" kg
3) 1.66x10%* g
4) 1.66x 10"**g

22. Which one of the following
chemical reaction indicates
Haber’s process for the
manufacture of ammonia ?

1) N2+ 3H2 —>2NH3
2) NO+ 74 H, — NH_+2H.0
3) NH2—CO—NH2+NaOH—>NH3+

NaZCO3

5
4) NO+ 3 H, - NH, +H,0

23. Inthe reaction
x KCIO; — y KCIO, + 20,
‘X’ ‘y’ and ‘2’ stands for

1) x=2 y=2 z=1
2) x=2 y=2 z=3
3) x=3 y=2 z=1
4) x=3 y=2 z=2

20. 20T TRV TRAR TTTTCLNE:
el KeS o3 edh SR tRRONTR,
TROQTITH T
1) FXDTARD
2) TXJDONND

3) WTTRIND

4) Q0T SRCTJN

21. 20T TJTI3ER T2 (a.m.u) O
SN, (S037)
5 —24
1) 1.66 x 107** kg
2) 1.66 x 10"** kg
3) 1.66x 10 g
4) 1.66x 10"%*g

22. 83 TLTOE 0INT TITOOIDIT
DNCTTR ‘VeWT’ & WIBRCICIF
NVCETAE ;Dma%aﬁ:oz BRW™HIT ?

1) N+ 3H, —2NH,
7

2) NO+ 75 H, » NH_+2H.0

3) NH,—CO-NH_+NaOH —NH +

Ne12003

5
4) NO + 5 HzeNH3+H20

23. B3 3YIOR TOTRODAT TCITLOTY
x KCIO, — y KCIO, + 20,
XY R 7 O, JIRRHIE ?

1) x=2 y=2 z=1
2) x=2 y=2 z=3
3) x=3 y=2 z=1
4) x=3 y=2 z=2



SAT(K-8)

BIOLOGY

24. The problem of constipation can be

reduced by taking more
1) Minerals
2) Carbohydrates
3) Roughage

4) Lipids

25. Minerals are formed due to
1) Chemical decomposition
2) Geological processes
3) Weathering of rocks

4) Chemical combination

26. Darwin’s theory failed to recognize
1) over production
2) struggle for existence

3) survival of the fittest but not their

arrival

4) natural selection

bRk
=)

24. :wuzgéoﬁ :’):nz"éo&ag BRDRRYZEN
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27. The correct matching of kingdom

and their organism s

A. Monera 1. Chlamydomonas

B. Protista 2. Yeast

C. Mycota 3. Bacteria

D. Plantae 4. Amoeba
B-3
B-2
B-4
C-3 D-2

4) A—-1 B-4

28. The preventive measure taken to
get protected from Aspergillosis is
to avoid

1) Drinking contaminated water
2) Being close to infected person
3) Unhygenic places

the nose with

4) Touching

contaminated hands

10

27. R TR, TN WI[NE Eend

TOIRT BROTIS

A. SR 1. RARREATOT®

B. a"’@césmw 2.

B-3
B-2
B-4

B-4 C-3
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29. The changes that takes place in the

light independent reaction of
photosynthesis is
1) Water is decomposed into
Hydrogen & Hydroxyl ion
2) Oxygen is given out
3) Light energy is converted into
chemical energy

4) Carbon dioxide is reduced to

starch

30. The primitive life appeared only in

water because
1) Water can expand on cooling
2) Water has a high surface tension

3) Water has a high resistance to

sudden changes in temperature

4) Water is universal solvent

31. The correct pair of symbiosis

among the following is
1) Man — Escherichia coli
2) Nepenthes —Insects
3) Fungi—Bacteria

4) Birds — Birds lice

11

29. @33 MoFewR FodhoRg WEET
BZRODNAYTE FBBRT J33ohoh
1) Qe0T Ve HERLBRI® W)
BB WOITPZNTDN
DT3P
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32. The scientific name of Man is
“Homo sapiens”. Here sapiens
means

1) Erect posture

)
2) Wise

3) Large cranium
4) Binocular vision

33. The chemical required for cellular
activities is provided by

1)

2)

3)

4)

Plastids
Vacuole
Golgi complex

Centriole

34. The basic unit of classification is
1
2
3

) Family
) Genus
) Class
4) Species
35. The scientific name of Peepul tree
is
1) Citrus reticulata
2) Cucurbita pepo
3) Ficus religiosa
)

4) Mangifera indica

12

32. =TS %m@a@% rof{on)
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HISTORY

36. Match the following and choose

the correct alternate.

A. Arthashastra 1. Ashwaghosha
B. Buddha Charita 2. Amoghavarsha
C. Mudra Rakshasa 3. Kalhana
D. Kavirajamarga 4. Vishakadatta
5. Kautilya
1) A-2, B-4, C-3, D-5
2) A-3, B-2, C-5, D-4
3) A-5, B-1, C-4, D-2
4) A-4, B-3, C-1, D-2

37. In the prehistoric age, the use of

fire and signs of ashes have been
obtained in

1) The caves of Kurnool
2) The caves of Ajantha
3) The caves of Ellora

4) The caves of Elephanta

38. The chronological order of the
‘Vedas’ is
1) Samaveda, Yajurveda,
Rigveda, Atharvanaveda
2) Rigveda, Atharvanaveda,
Samaveda, Yajurveda
3) Yajurveda, Samaveda,
Atharvanaveda, Rigveda
4) Rigveda, Samaveda,
Yajurveda, Atharvanaveda

13

36.

37.

38.

oo we?p

B3TOD
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1) A-2, B-4, C-3, D-5
2) A-3, B-2, C-5 D-4
3) A-5, B-1, C-4, D-2
4 A-4, B-3, C-1, D-2
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39. Read the following sentences and 39. 335 3$NT 2 m%ﬁe}m& W0, TOO3RT

identify the correct alternate SCoHRy, THTOHSR.

A. Mesopotamia is called as A. NeEsH 5;55&@@3303;@;5;4
‘Land between the rivers’ by ‘SORY TEOT TR oD
the Greeks 235

B. The Hwang Ho river of China B. w3 Bmoorst 80 ZmEd

So3T 354 m@oﬁa?bez WROY
ﬁéo&mqowmc&gs_ao

use to changed its course after
the floods in an unpredictable

manner
1) 8, A %0, B 3%

1) Aistrue, B is false

) )
2) Both A and B are true 2) w5 AsEy B X0
3) Als false, B is true 3) 9% A 2%, B %0
4) Both A and B are false 4) @3 A B B 30"’%

40. In the two classes of Roman 40. BRI IZNETOT AT

society, the Plebians were common SRFRYY BeehTT
people and the Patricians were SRIEREONGS, BTEACHT
1) Artisans 1) B3OBNENRL
2) Land-owners 2) LR-B30DeF
3) Soldiers 3) ﬁe@ﬁda
4) Small land owners 4) 32 3R LHTBTPTOTID

41. The principle which was taught by 4. IPEERT DTS BRCRT I

Vardhamana Mahaveera o o
1) ©&0%
1) Non - violence
2) &3,
2) Truth
) WBLBODE

)

3) Brahmacharya
4) Astheya 4) 3o
14
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42. The Vardhana King who was
defeated by Pulakeshi Il was
1) Prabhakara Vardhana
2) Pushyabhuti
3) Harshavardhana
)

4) Rajyavardhana

43. The ‘Pataleshwara’ temple at
Talkad
contribution of

1) Chalukyas
2

is the architectural

) Kadambas
3) Shatavahanas
4) Gangas

44. ldentify the first Sanskrit Literature
‘Champu work’ and its writer in the
period of Rastrakutas

1) Nalachampu — Trivikrama
2) Adipurana—Pampa
3) Shantipurana —Ponna

4) Kavirahasya —Halayudha

45. The Gupta Empire was declined
dueto

1) Continual attacks of Mauryans
2)
3) Continual attacks of Huna’s
4)

Continual attacks of Kushans

Continual attacks of Vardhanas

15
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GEOGRAPHY AND ECONOMICS

46. Pacific Ocean : Asia :: Arctic Ocean:
1) Europe
2) Australia
3) North America

4) Africa

47. The circumference of the earth in
poles is 40,008 kms and in equator
itis 40,076 kms. This proves

1) The earth rotates on its own axis

2) The earth revolves in its own
orbit

3) The shape of the earth is Geoid

4) The earthis a blue planet

48. The correct group of latitudes in
the ascending order of their size
(circumference) is

1) Equator, Tropic of Cancer, Arctic
circle, North pole

2) North pole, Arctic circle, Tropic
of Cancer, Equator

3) Tropic of Cancer, Equator,
Tropic of Capricorn, Arctic circle

4) Tropic of Capricorn, Equator,
Tropic of Cancer, Antarctic circle

16

1
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49. If we move from equator towards
the poles the distance between the
two longitudes

1) gradually increase

2) does not change (remains the
same)

3) gradually decrease

4) increase and decrease

50. This is known as oceanic crust
1) SIAL

2) SIMA

3) NIFE

4) Magma

51. Ingroup ‘A’ list of countries and in
list ‘B’ the list of volcanoes related
are given. Identify the group that

matches:
A B
1. ltaly a. Mt. Fujiyama
2. Indonesia  b. Mt. Pielee
3. WestIndies c. Mt. Karkota

4. Japan d. Mt. Vesuvious
1)1-a 2-b 3-c 4-d
2)1-c 2-d 3-a 4-Db
3)1-b 2-a 3-d 4-c
4)1-d 2-c 3-b 4-a
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49. TILRWINOT T[T IRNR BRCTOD
QT BeSTOBNE STIT 9O3TH)

1) DRRTN BT BREHIT

2) OJORTC WTCowem FOBWD

WTROY
3) ATOTON BRI
4) TWITT T 3REOIWNIIT

50. /T TNOEF TOONT XTI
NOTP sdoﬁg%d.
1) 203Re®
2) ﬂém
3) P
4) 0038

51. A Rgod® Besnso o B Bk

&3

WON ONTICSNSTY, BRUITRNG.

pfolo¥clelnsly rOOTRY, TSR,
A B

1. o a. JIoezE mszaosma
2. aomwcms b. ZRoeE wede

3. 37, vOReT® €. SIPow® FFRCS

4. BT d. SPoerF IRelonEE
1)1-a 2-b 3-c 4-d
2)1-c 2-d 3-a 4-b
3)1-b 2-a 3-d 4-c
4)1-d 2-c 3-b 4-a
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52. Identify these marked areas in the

map.

1) a)Cape b) Gulf c) Bay
2) a)Bay b) Cape c) Gulf
3) a)Gulf b) Bay «c¢) Cape
4) a)Cape b) Bay c) Gulf

53. The triangular plains formed at the

river mouths are
1) Estuary
2) Valleys
3) Tributaries

4) Deltas

18

52. 5%033&2 rpelonENontnt agdcsmfﬁoel
o3,

1) a) $R33 b) 000

c) 3rQ

2) a) 3RQ b) RR&T c) a0
3) a) 00 b) 3 ) HRET
4) a) RAT b) 3 c) 000

53. J%» xmgwmd WO FNTY
T030HROTT d:émﬁﬁeéo

1) g[ned

2) 3e3Ind

3) poTIOND

4) D[N0 RN
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54. Earth gets divided into two

hemispheres by
1) Greenwich Meridian, Tropic of
Capricorn, Equator
2) Equator, Greenwich Meridian
and 180° longitude
3) Tropic of Cancer, Tropic of
Capricorn and Equator

4) Equator, International Date Line
and Arctic circle

55. Equator passes over to the North
of this continent

1) Africa
2)
3)
4)

Asia
Europe
Australia

56. The father of Modern Economics
is

1)

2)

3)

4)

Prof. Marshal
Prof. Adam Smith
Prof. J.B. Say
Prof. J.K. Mehta

57. India has bought some machineries
to its industries from German
industries itis

1) Export

2) Import

3)

4)

Entrepot
Wholesale

19
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1) 8%
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3)
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POLITICAL SCIENCE, SOCIOLOGY &

BUSINESS STUDIES

58.

59.

60.

Identify the Greek philosopher who
discussed the nature and functions
of State and Govt. for the first time

1) Plato

2) Socrates

3) Alexandar

4) Aristotle

People can get information from the
Government bodies by filling an
application through this ‘Act’

1) RTE

2) RTI

3) SAKALA

4) KTPP
Choose the correct sequence to
indicate the following statements
as True (T) or False (F).

A. The people living in India under
the rule of British were termed
as ‘subjects’

B. ‘CitizenshipAct’was enacted by
the Parliament of India in 1955.

C. You borned in India and the
citizenship which you acquired
is ‘Citizenship by Naturalization’

D. Fundamental duties are
incorporated in our Constitution
in 1976 through 42nd amendment

1) TTFF
2) FFTT
3) FTTF
4) TTFT
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58.

59.

60.

4) 0TI

TINRVT

aaﬁmwnséc’o 923503
Wew

pifefrloRATof~ S-Sy o1
m%oéo:bﬁo& QOPTITT T30
@wﬁswaﬁaq 33 TOOWT WTWNAT.

1) RTE (s50°.88.3.)
2) RTI (&50°.68.%0.)

3) SAKALA (3500)
4) KTPP (383.2.%.)

33 NS Jewdned =O(T) wzwe
3’% (F) <0 oxgmiaew
BecrRObR, 8ol =RA.

A. WE3TT SVIODY RTBTY BT

zssqu ‘TENS’
DOTN %8o$>e7arb§z€.

. (333 1955 3Y ‘T3 Tend’

0R 3TUROWLIN.

. PO03RY RIS AR JRATHS

P03, “Fwes FTY.

) sme Dongonm 19763 423¢

SWIRODY  HROBRS
53?5671@;5:4 BeOTSING.
1) TTFF

2) FFTT
3) FTTF
4H TTFT
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61. As per the Second Amendment of 61. Towecdhe® TRz Tod, 2000T 2:3¢

the PR Act of 2000, every Gram STHTRCH IO mds TOLWOW IO
Panchayat member must have ?-‘53 zw*m 35’@ mﬁoﬁg <ac$s$:4
1) Ration Card %.raoadzﬁcso.
) Ration Car 1) DRSS e
2) ‘PAN’ Card 2) e BEE
3) Toilet 3) FHOOD
4) ‘Aadhar Card 4) STT TTE

62. The correct Chronological order of 62. WFITHm TFodR TowoRATW
the election process is 3SNS ToFNTRY, Fhawen deedmen
BOZB 0T 0l

a. Nomination of the candidates
a ozF e.-oz:@;ﬁ@ocﬁ VT

b. Withdrawal of Nomination 03O RRATIZRY IS,
papers b. wvembamediony,
SooTTECIn T

c. Scrutiny of Nomination C. THTINY TOLLS TRMe WTF

OPRITY Ty TP,

d. BT sadeendod
LHTOTTH AI0T, rgé, DT

d. Schedule of the election will be
published by the Election

Commission Smiednd T,
1) a,b,c,d 1) a,b,c,d
2) d,c,b,a 2) d,c,b,a
3)d,a,cb 3)d,a,cb
4) a,d, b, c 4) a,d, b, c

63. Name the Sociologist who worked 63. ﬁmumgﬁﬁ:& DIRFITN FRT

hard at making sociology a science FAT TSRBTIT,
1) Herbert Spencer 1) T[FeFs ~§c°‘
2) Emile Durkheim 2) N0 BDERTF
3) Auguste Comte 3) 8Nz’ T
4) Max Weber 4) BRF 52T

21
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64. The processof electing the ‘Mayor’
and ‘Deputy Mayor’ is
1) Electing by the people through
election
2) Electing by the Governor
3) Electing by the Chief Minister
4) Electing by the Corporators

65. The emergence of communities
and villages took place during this
stage

1) Agricultural stage
2) Handicrafts stage
3) Barter system stage
4) Pastoral stage

66. The mark which is printed on
agricultural products to certify
their quality is

1) 1SI

2) ISO
3) AGMARK
)

4) HALLMARK

67. The reason to open consumer
co-operative societies and Janatha
bazaars by the Government to
supply essential commodities to
the people is

1) To avoid adulteration

2) To avoid black marketing

)
3) To avoid artificial scarcity
4) To follow Business Ethics

22

64.

65.

66.

67.

STOTRT T LWTRTOTPTITI,

o), TR T

1) ZJTO TOTEHOD WopWT SO,
BPETIT.

2) TOBIPOTY B0, [PWTT.

3) BN 0L, WRETVT.

4) TOI0D BTBIL SO,
BP0,

ez DFURT B2 TOITQ MRFPTEd
T TINTORN TLBROTR).

1) Semod ®O3

2) BDIOINFNE TO3

3) VA VATOD TOZ
4) TRE3 TOBEIFODN HOI

HETODL LOIFNE 1L S9CHED

WRYNSG eSS B z%éqoﬁa?»ez

THRATTIT.

1) 20.20%°.80.

2) R0V.QF°.2.

3) SN°RPTE

4) TOSFRPTE

TTHRT MEION N TWNETY

WTNTZLY ITTO ToPTNeH, &I

WIRTLATEY, TRLILL TN T

1) 30308030, IEMLDR)T

2) YTOTONY FTANY  T[IP00ES
SRR

3) LT TOIII WD TIT WLIOW
BTRLLD

4) TOFTPTTYT [RET TENE,
WIOT VS WTVFORELD
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68. A partner neither contribute capital

nor take active participation in

transactions of the firm is called
1) Sleeping partner
2) Nominal partner
3) Minor partner

4) Active partner

69. The District called as ‘The Cradle
of Co-operative Movement’ in
Karnataka
1) Mysore
2) Gadag
3) Mangalore

4) Dharwad

70. The Multinational Companies such
as Tatas and Birlas are the origin
of

1) India
2) UK
3) US.A

4) Japan
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68. wocsmeéwﬁooz TRBWRNY  ToNw
TRONT [eENTY
PNSLDHIHNY. VoI TRLOMOTTRY,
&t 3TO30TIT.

69. ‘IXTO ZoFTnY é’:eégpo’ NOT?

IrLIEs B wgoh, TeITB.
1) SRR

2) nan

3) SooRTRD

4) Zo0wor

70. &R 5:3_;9 QERE A0W w&:m%coﬁa
>

FOTING ST
1) QO&RS®
2) odn.3.

3) CIW.F.R.

4) RTJ°
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71.

72.

73.

74.

MATHEMATICS

abc is a 3 — digit number. cba is
another 3 —digit number obtained
by reversing the digits of abc. Then
(abc —cba) is always divisible by

1) 333

2) 111

3) 9

4) 66

Inamagic square of 3 x 3 constructed
using all odd numbers from1to 17,
the central number and the magic
sum are respectively

1) 7,21

2) 9,27
3) 11,21
4) 13,26

The smallest number by which 6000
should be divided to get a perfect
square number is

1) 15
2) 9
3) 6
4) 3

A square piece of land has an area
1764 m2. The length of wire required

to fence the complete land is
1) 42m
2) 84m
3) 126 m
4) 168 m

24

71.

72.

73.

74.

neds

abc w0t 3- ©wodng :109323. abc
o e.-oo%ﬁeg?s:ez LoTHmnomn wimen
VT IR0 50‘935 cba. 3n
(abc — cha) o3 cemenon
soa%obaow N3y

1) 333

2) 111

3) 9

4) 66

1 aocs 170 TSNS Qo W%
e?:'\)b NVTABREN T3AT 3)(35
mom @653@?5 30TR B 03323

533: SO ms Gdamﬁ

JROE =N méﬁcﬁaaﬁ%1 JROHen

6000 &, smnEieser 30 Hosh
1) 15

2) 9

) 6
)

H W

20T WPTTTTYTOZT  HRWOD
$eZPO 1764 e ¥T. JREIFeN
B3 BRWCH 1T Wed TosLn Wews
S030H T

1) 42 e,
2) 84 &e.
3) 126:0¢.
4) 168 0.
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75.

76.

77.

78.

Identify the rational numbers which
are their own reciprocals

1) 0, 1

2)1,-1

3) 2

4) 4

A seller bought some chocolates
by paying rupee 1 for 6 chocolates.
The number of chocolates he must
sell for rupee 1 to gain a profit of
20%is

1) 8

2) 6

)
) 5
)

A W

Minu spends 40% of her personal
money and hasX 12 left. Money she
had before spending is

1) 20
2) %28
3) T48
4) %88

Hari bought a mobile phone for

X 2,600. The VAT for this item is
4%. The price of the mobile phone
before VAT was added is

1) 2,700
2) 2,604
3) 2,504
4) 2,500
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75.

76.

77.

78.

@63 SonETYN 9TC Nogimfm
20T mn@z% ~093mfa

1) 0, 1

2) 1 —1

3) 2,—

4) 4

mm&mdm%ﬁa WOTH TRTROLA
6 m&rac?c&s@ﬁeémez EROW SOWD.
O[T 20% T, ma;aﬁﬁaez TBdohen
WOTH THRTROWBR [ITHE3
RWRRICTT BRSNS 7309323
1) 8

2) 6

)
) 5
)

A~ W

0T SRR 40% T, TeoTImy, FeF
FRRT 803T RSO I 12 e,
a"aa;a a‘ndomdﬁé W00WT N
OTPOT T

1) 20

2) 728
3) T 48
4) ¥ 88
0 I 2,600 3, womy SRBe*
mcmez S0T. facsg 553306536‘;3?3
R 4%. P[RS 30R0H,
ﬁc@z’o@d% R0OWSToN WHT 3B
1) 32,700

2) T2,604
3) T 2,504
4) 32,500
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79. The mean height of 15 students in
aclass is 1.4 m and the mean height
of remaining 12 students is 1.2 m.
The mean height of all the students

in the class is
1) 2.6m
2) 1.44m
3) 1.3m
4) 0.2m

The breadth of a rectangle is 8 cm
less than its length. If its perimeter

is 60 cm, the area of the rectangle is
1) 302cm?
2) 209 cm?
3) 196 cm®
4) 121 cm?

81. Two consecutive numbers are such

that two-fifths of the smaller

number exceeds two-ninths of the
larger number by 4. The two
numbers are

1) 35,37
2) 33,35
3) 25,27
4) 23,25
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woth 3oNSeRYS 15 é)msc;rmf
HTeTO 2T 1.4 ¢ Y even 12
é)mz@?m% AoeT0 QT 1.2 e,
STRSCDYT D DTHENE BTVKO
DT

79.

1) 2.6 €.

2) 1.44:¢.
1.3 ¢.

4

)
)
3)
) 0.2 %e.

80. 2.0TH BOHIT WNOF) VT wcga&os
8 Bo.ve. 3R VTW. WTT BT

60 Fo.cwe. ©W3, $OHIT FeSFO
1) 302 F0.5we.?
2) 209 F0.a0e¢.?
3) 196 F0.50e.?
)

4) 121 30.50¢.2

81. g Tosloh STTRe NFSTy, IR

:109323033 ATBI¢ zgoap‘gé&os 4
%znuhc’owoé’ RTW> TFIITONS
5093571@?5. ¢ T zos%m?o

1) 35,37
2) 33,35
3) 25,27
4) 23,25
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82. Three numbers are in the ratio

3 : 4 : 5 and their sum is 96. The
three numbers are

1) 24,32, 40

2) 22,34,40

3) 21,28, 47

4) 26, 34, 36

a-1 a-3
83. If [5) - (X) then the value of
y

84. If (2°x2*)+2"=2x, then the
value of ‘X’ is

1) 16

2) —16
3) 4
4) -4

85. Five cubes each of side 5 cm are
placed adjacent to each other. The
surface area of the resulting cube is

1) 255 cm?
2) 555cm?
3) 550 cm?
4) 225 cm?
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82. TR :3093571% 3:4:5¢3C
ORTRITORN 3Ty YN LI 96

SN, & TRTY Bo3NR
1) 24, 32, 40
2) 22,34, 40
3) 21,28, 47
4) 26,34,36

a-3
83. [ _(XJ SE8 % ® B
Yy

w NN =

5
4
3
2

)
)
)
)

N

(2°x2%)+2" = 2x s xR 33
16

84.

W N =

)
)
) 4
) —4

SN

85. 5 Fo.owe. mwa@% 0T wwr{eéabol

2008 TERY 2.0TTOZ VOIRNG.
FOSTIT Hedd 3§ SR

1) 255%0.q0¢.

2) 555%0.50¢.°

3) 550%0.c0¢.°
)

4) 225%0.a0e.2
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86.

87.

88.

The dimensions of a class room are
10 m, 6.4 m and 5 m. The number
of students, the class room can
accommodate if the space (air)
required for each student is 1.6 m3
is
1
2
3

4

) 200
) 320
) 326
) 256

If the lateral surface area of a cube
is 400 cm?, the total surface area
of the same cube is

1) 400 cm?
2) 600 cm?
3) 700 cm?
4) 1000 cm?

In the adjoining figure the value of

ZSTR is

70°
50°
120°
38°

28

86.

87.

88.

WOW> 3TNS FATROD wWISNATS
10 Qo¢., 6.4 e TY 5 e, 8.
T3 ImBFR 1.6 et wT, Y
(9T 50) e.—on‘a’smwc’, ¢
3RTRODYTWTITT é)mz@?mf
30936

1) 200
2) 320
3) 326
4) 256

WO FTI® mgf Heed 35 QRYLEIET
400 30.c0¢2, 3538 wide TR msgi
&hedd 3§ SR

1) 400 30.Q0¢%,
2) 600 70.0¢2.
3) 70070.50¢°.
4) 1000%0.50¢62,

QY DR uIRY LSTRE wud

1) 70°

2) 50°
3) 120°

4) 38°
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89. In triangle ABC, when ZA =90°, 89. &b ABC on®, ZA =90° &won
the hypotenuse is SWTT BT
1) AB 1) AB
2) BC 2) BC
3) CA 3) CA
4) None of these 4) O3PRTR VY

90. ABCD is a rhombus. If ZA=70°,
then the measure of /CDB is

90. ABCD 0w =wegs. LA=70°

&STS LCDBO® @3

D C D c
70° g
A 1 " 70 4
1) 55° 1) 55°
2) 70° 2) 70°
3) 150° 3) 150°
4) 180° 4) 180°
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.
. All questions are compulsory, each question carry one mark.

. During the examination,
* Read the questions carefully.

» Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

e Ex: Inan question paper if SI. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point pen as follows.

20102 @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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